EXAM P QUESTIONS OF THE WEEK

S. Broverman, 2008

Week of February 18/08

Thepdf of X is f(xz) = ax + b ontheinterval [0, 2] and the pdf is 0 elsewhere.
Y ou are given that the median of X is1.25.

Find the variance of X.

The solution can be found below.



Week of February 18/08 - Solution

Since f(x) isapdf, weknow that [’ f(z)dz =2a+2b=1 .
F(z)= [lf(t)dt = % +bt,50 F(3) = Za 4 % — 1

Solving these two equationsresultsin a = 1z , b = 55 .

Themeanof X is B(X) = [fo(% + I)de = 3
and the second moment of X is F(X?) = [;2*(3% + 55)dz = T2 .

. . 2
Thevariance of X is E(X?) — [E(X)]? = £ — (3)" =% = 302 .



